W- TP NCREREAEGERZE &
Mm— [SAA] FEEE=1/999 TEZ =100.0%(ST=34) FEHH =ST R /0/30 @ E Bk =38283&10

[SAB] FESE=1/999 WEZE =100.0%(ST=23) EHK=ST # /0/19/63 [ E Ik =382&38&7

MR A R - [ RAkE] [Tk 4 @%W—\
BB ATY -8

MR T F = — I o
W77 RSB
[ TSN
WEEE - TS

o (] o
WO () oo% °° OQ I
<ARR=THE> J o o o r:>‘:’T1
o o @ [MAX HHE]
. as - [SAA](10 {8 /2C)
(SFZEET—V] KJ_,_,#—*'# “(J)15R- -~ 245 (&
<BEREEHN= H E> —EFEEEE -] (sAB1(7 8 /100)
-()10R- - -583 {&
- 16R:--933 &

TR, [EAMHER] BvEY, [FHBEM] ToMHIZ¥ECET, Presented by TKC  (HREH b—& - /7« 3FFiarX)




